PHILOSOPHY
B.A 3™ Semester (Programme) Examination, 2021
Course ID: 30618 Course Code: AP/PHI/301C/1C
Course Title: Deductive Logic (Western)
Time: 2 Hours Full Marks: 40
The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as for as practicable.
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1. Answer any five of the following questions: 2x5=10
TS & 1 AblY el Ted wie:

a) What is argument form?
Ifeq AT FE 72
b) What is non-empty class?
SO FCF I ?
c) Give the truth table of * ~~P".
C~~P’ G B0 ORI wie|
d) What is mediate inference?
I S 2
e) What is the contradictory proposition of “Some men are Selfish”?
‘CRICT @A A =¥ TR -9F a5 12
f) Represent with Venn diagram: “Not all flowers are red”
(oD@ AP B “ITF Fo1 e w7
g) When is a deductive argument valid?
@6 SR IS U (94 =2
h) Obvert the following: Nothing is both round and square.
fafes T4 @ g8 Fovie PR 8 I+ 73|
2. Answer any four of the following questions: 5x4=20
fsfefs @ @rear 5135 atR s wie:

a) Use truth-table to determine the validity of the following arguments.
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If today is Monday or Tuesday, then we have no Logic class. If today is Monday and we have
Logic class, then today is not Tuesday. Therefore if we have no logic class, then today is not
Monday.
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b) What is standard form of Categorical Syllogism? Name the fallacies committed and the rule

d)

e)

f)

9)
3.

a)

violated by the following syllogistic form.

AAA-4 2+3
Qe AFICER eerT W i I? Wvw Ui SRt @ (iE 90 ©f 9 @2 (39

TR (P 7R w1fere 2@z ©f TE T
AAA-4
Explain with examples the distinction between contrary and sub-contrary oppositions.

TrRRe TR [ede [Rfee ¢ w@w fJerdre mifasea Tug s e s34 5

Test the validity of the following argument by means of Venn Diagrams He will pass

examination, for he is intelligent and only intelligent students pass the examination.
@ *[ArF AP FAQ, TR G JaT @32 (FIENG I QG AR A I 5
What is ‘the fallacy of four terms’? Give an Example.

Sifeen @b @ 52 g6 Sarzad As) 3+2

What is meant by ‘distribution’ of a term? Why do only universal propositions distribute their

subject terms? 2+3
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Answer any one of the following questions: 10x1=10
fsfie 7 o g5 dvas Tee mis:

Identify figures and mood by changing each of the following arguments to a logical form and

explain what went wrong if invalid: 5+5
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Q) As you are not a graduate, you are not fit for this job.



(i)
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Politicians never speak the truth, because no honorable persons are politicians and all

speakers of the truth are honorable persons.
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b) When a statement to be considered as Tautologous? Distinguish between Tautologous statement

and Self-contradictory statement. 2+8

4
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c) Test the validity of the following arguments by means of Venn-diagram: 5+5

cofbeas MR RS e e f[om =

(i)

(i)

All men are liable to error. Saints being men are liable to error.
TREFEE e TSR] AT, T AT ST OIS IS TSR WA
Communists are patriots and Marxists. Therefore some patriots are Marxists.
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